10%

R3. 4~
X5y | a=b TRAEH FUFER: X 53| 2=} TRAEH F TR
2101 | A7 U —v 1 1,050 /4 3101 | A2 U —> 1 1,050 /4
2102 |5 5 1 1,570 /% 3102 | KRB 1 1,050 F/5X
2103 |t 14 110 /& 3103 |[R U Vv b 1 1,050 M/#
2104 |55 18 50 [ /18 3104 (fliS AT —v 4 1,050 /&
2105 | K& 14 50 M /{ - 3105 |RI&E A 1 210 /&
" 2106 | (fEAET) 1 520 /= ;‘)i':h 3114 i 92 110 M/#&
;”; 2107 |FI=F A 1 210 M/+ fi 3115 |55 60 50 F/{#
e 2108 |fkmH (FEHEEE ) 1 520 /& 3110 [FkmA (FE#EEA ) 1 520 /&
2109 |fEHEE B 1 310 M/#H 3111 |Ffkme (HEEE M) 20 110 F/&
2110 ifms (HEE M) 40 110 M/& 3112 |\ JHZE Mk 20 50 M/6
2111 \HZEE M+ 60 50 M/#& 3113 |JHA 1 520 M/&
2112 |22 b T R AR 8 110 M/% WO 3201 ["BEIar T RET / (v~/y S6A) 1 4,190 M/H
2113 | F = v fifgF 8 50 M/H& 3301 \(WEZELT 1 520 [/
2201 \ZN=a T RET ) (N—=BU RLVT77275) 1 10,480 /% 3302 |1 A—X—F 4 | 1 1,050 /=
% 2202 |7 Va7 T RET ) (v~ CFIISA) 1 9,430 M/& 3303 @7 AU RTA b 1 1,050 /=
2203 |IRUT 4 7 « ANA 1 5,240 M/& 3304 | 7w X—HR UYL MTA b 1 1,570 /=
2301 |{EZEST 1 520 [/ - 3305 | —U T ARy hTA K 1 3,140 /=K
2302 | T U7 1 1,050 [/ sg 3306 | ARy T A 2 1,050 M/&
‘;"E\ 2303 |[v—U VT ARy T4 k 1 2,100 /=X fi 3307 | BT —T 4V H— - 590 H/#&
}:f% 2304 | B ARy FFA b 2 1,050 M/& 3310 |50 0wARY FFA b 40 310 1/
2305 |\ BT —T 4 LK — - 590 M /#% 3311 (/8—=F A K 12 520 M/#&
2306 |1 Kw AR 7 A K 32 420 M/#& 3312 | 2 BERX Z o 8 110 H/#&
2401 | FBILFIEE (w1 7 2KGT) 1 2,100 /= 3131 kwvwv ARy b (wvv - LEGD) 2 2,100 M/&
2402 | TA XYL ASA 7 (N RXUIHAEY) 4 2,310 [/ 3401 | FEILFAEE (A 7 2 KRG L) 1 3,140 H/x
2403 | ¥ A F I v r~A0 19 310 /4 3402 |[UA XYL A=A (N FXITZAEY) 4 2,310 M/
2404 [T YA 9 730 /AR 3403 | AT I v I~ A7 10 310 M /A&
2405 |~ A 7 AKX K (FEL) 15 110 F/A 304 | T U~ AT 9 730 F/A
2406 |~ A 7 AKX R (HE) 2 110 [/A 3405 |~ A 7 A X K (K L) 28 110 [/4
2407 | =B Y ~ A 7 HEiE 1 1,570 /= 3406 | v A 7 AZ R (5L) 2 110 /4
;:E.; 2408 | NFIATY AL — T — 2 420 /% . 3407 [ NFATY AL —H— 6 420 /4
}l{;z 2409 |ICD 7' L—F— 2 1,050 /& fgj 3409 |ICD 7 L—F— 2 1,050 M/&
}:f% 2410 MD7 v % 1 1,050 M/#& % 3410 MD7 v % 2 1,050 M/#&
2419 [SDT v ¥ 1 1,050 /& b 3411 |SDTF v % 1 1,050 /&
2411 | bT v 2 1,050 /& 312 |ty FTFvF 2 1,050 /4
2412 | TV AN R—T 1 1,570 /& M3 | TYHE N NR—T 1 1,570 M/#&
2414 | TP = H— (i 1 10, 480 M/ 3415 | a7 X— (H 1 5,240 /41
2418 | Ty = X — (BEHH) 1 1,050 /& 3418 |Fm Y=y 2 — (BEIH) 1 1,050 /%
2415 | T —L A S L—F— 1 1,570 /& 3416 DVD 7L —%— 1 1,570 /&
2416 |E 74T v ¥ 1 1,050 /& MT|ETAT v ¥ 1 1,050 [4/&
2501 |FHL 6 110 /& 3501 | AT —F L 30 210 /&
2502 | Fi 1 30 50 M/#& 3502 | =2V T T =T 6 210 M/&
2503 || BT/ 1 1,050 M/ 3503 | KA 12 110 M/#&
% 2504 |[ARU A FAR—F 1 110 M/#& {% 3504 |ARU A FAR—FR 1 110 M/%&
2698 |ImEF R (FR—/1) LRFY Y | 3,140 [/h 3598 |mMEERE (X2 hk—i1) LRF D | 3,140 [/h
9998 BN THIAY D | 11,210 M/ A 9998 BN THIAY D | 11,210 F/A
9999 FRAfERM =2 b (—H 1 kw) - 210 1/H 9999 |FEAfRRH =2 b (—0 1 kw) - 210 /1A




